
qm ;+ ljBfnosf] gfd 7]ufgf a}+s vftf g+= a}+s 7]ufgf hDdf lgsf;f ?=

1 cfbz{ ljBf dlGb/ df=lj= sgsfO{ g=kf= 08800100431816000001 g]kfn a}+s lnld6]8 ljtf{df]8 g=kf= 24000

2 kz'klt k|f=lj=  sgsfO{ g=kf= 08800106562772000001 g]kfn a}+s lnld6]8 ljtf{df]8 g=kf= 14000

3 ;/:jtL df=lj= sgsfO{ g=kf= 1470010656902000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 24000

4 e[s'6L df=lj= sgsfO{ g=kf= 147000017301 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 24000

5 lxdfnL cf=lj= sgsfO{ g=kf= 14700106528749000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 60000

6 rDkfk'/ df=lj= sgsfO{ g=kf= 14700106435416000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 18000

7 sgsfO{ ufoqL k|f==lj= sgsfO{ g=kf= 14700106552989000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 80000

8 sgsfO{ df=lj= sgsfO{ g=kf= 14700100951989000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 54000

9 hfgsL cf=lj= sgsfO{ g=kf= 14700106566787000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 12000

10 b]jsf]6f k|f=lj= sgsfO{ g=kf= 14700106567053000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 14000

11 l;+xb]jL cf=lj=   sgsfO{ g=kf= 14700106545506000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 18000

12 hgr]tgf cf=lj= sgsfO{ g=kf= 14700106567022000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 18000

13 eujtL cf=lj= sgsfO{ g=kf= 14700106568465000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 18000

14 k~rsGof k|f=lj= sgsfO{ g=kf= 14700106579771000001 g]kfn a}+s lnld6]8 sgsfO{ g=kf= 14000
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